Solicitation Name: Police Uniforms & Protective Gear Solicitation # 70205006 Closed: 5/14/2020							Com \$ 28,	Uniform pany 924.75 0		z Uniforms 8,250.0 0 \$ 0	New England Uniform Co. LLC \$ 69,809.5 0 \$ 0	
#	Items	Lowest	Quantity	® Unit@fM	ea Customization	Requireme	r Unit ⊵ rice	Total@ost	Unit e rice	Total@ost	Unit e ric∈Total@ost	
0												
						Blauer Brand by Cerified Dealer.						
	Male Trouser Class A Dark				Hem as requested	On Site						
#0-1	Navy: Blauer Item #8560T	\$0	50	EACH	sizes 28 - 54	Measure Blauer Brand by Cerified Dealer.	\$ 0	\$0	\$ 67	\$ 3,350.0	\$ 70.849 \$ 3,542.499	
	Male Trouser Cargo Dark Navy	:			Hem as requested	On Site						
#0-2	Blauer Item #8567T	\$0	220	EACH	sizes 28 - 54	Measure Blauer Brand by Cerified Dealer.	\$0	\$ 0	\$ 71	\$ 15,620.0	\$ 76.150 \$ 16,753.0	
	Female Trouser Class A Dark				Hem as requested	On Site						
#0-3	Navy: Blauer Item #8560WT Female Trouser Cargo Dark	\$0	20	EACH	sizes 2 - 28 Hem as requested	Measure Blauer Brand by Cerified Dealer. On Site	\$ 0	\$ 0	\$ 67	\$ 1,340.0	\$ 70.849 \$ 1,417.0	
#0-4	Navy: Blauer Item #8567WT	\$0	50	EACH	sizes 2 - 28	Measure	\$0	\$ 0	\$ 71	\$ 3,550.0	\$ 76.150 \$ 3,807.500	

Solicitation Name: Police Uniforms & Protective Geo Solicitation # 70205006 Closed: 5/14/2020						Total Cost Selected # Selected (\$)	Fairfield Uniform Company \$ 28,924.75 0 \$ 0		Horwitz Uniforms \$ 58,250.0 0 \$ 0		New England Uniform Co. LLC \$ 69,809.5 0 \$ 0
#	Items	Lowest	Quantity	⁄ R ∉Unit@fMe	a Customization	Requireme	r Unit ⊵ rice	Total@ost	Unit ⊵ rice	Total@ost	Unit 2 ric∈Total@ost
0											_
#0-5	Short Sleeve Male Dark Navy: Blauer Item #8446 Long Sleeve Male Dark Navy: Blauer Item #8436	\$ O	70	EACH	Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems provided by department where indicated. Nametag Tab. Badge Tab. Epaulettes Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems provided by department where indicated. Nametag Tab. Badge Tab. Epaulettes	Brand by Cerified Dealer. On Site Measure	\$0	\$ O	\$ 61	\$ 4,270.0 \$ 4,550.0	\$ 66.45 \$ 4,651.5 \$ 72.849 \$ 5,099.5

# Items Lowest Quantity Bu Unit of Mea Customization Requirement Unit of Items Lowest Quantity Bu U	Init P rice Total@ost	Uniterice Total@ost
O Addition of		
Addition of		_
Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems Blauer provided by Brand by department where Cerified indicated. Nametag Dealer. Long Sleeve Female Dark Navy: Addition of Tab. Badge Tab. On Site	61 \$ 2,135.0 65 \$ 2,275.0	\$ 66.45 \$ 2,325.75 \$ 72.849 \$ 2,549.75

Solicitat	ion Name: Police Uniforms & Pr	otective Gea	r					d Uniform npany	Horw	ritz Uniforms		England rm Co. LLC
	tion # 70205006	oteetive dec	•			Total Cost		,924.75		58,250.0		9,809.5
	5/14/2020					Selected #	7 20	0	,	0	, ,	0
Ciosca.	3/14/2020					Selected (\$)		\$0		\$0		\$0
#	Items	Lowest	Quantity	vR«Unit@fM	ea Customization			Total@ost	UnitPric	e Total@ost	UnitPric	€ Total@ost
	110.110	2011001	Quarrat	, 2. 0 (2.2.			· · · · · · · · · · · · · · · · · · ·	101012001	O'III CEITE		O THICE I TO	(101012001
0												_
#0-9	Short Sleeve Male White: Fecheimer Item #95R66	\$ 790.0	20	EACH	Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems provided by department where indicated. Nametag Tab. Badge Tab. Epaulettes Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems provided by department where indicated. Nametag Tab. Badge Tab.	Fecheime or Brand by Certified Dealer. On Site Measure.	\$ 50.25	\$ 1,005.0	\$ 47	\$ 940	\$ 39.5	\$ 790.0
#0-10	Fecheimer Item #45W66	\$ 870.0	20	EACH	Epaulettes	Measure.	\$ 54	\$ 1,080.0	\$ 50	\$ 1,000.0	\$ 43.5	\$ 870.0

Solicitatio	on Name: Police Uniforms & Proto on # 70205006 /14/2020		Total Cost Selected # Selected (\$)	t 0		Horwitz Uniforms \$ 58,250.0 0 \$ 0		Unifor \$ 69	England om Co. LLC 9,809.5 0 \$ 0			
#	Items	Lowest	Quantity	I Unit@fIMea	Customization	Requireme	r Unit ⊵ rice	Total@ost	Uniterice	e Total@ost	Uniteric	: Total@ost
0												
#0-11	Short Sleeve Female White: Fecheimer Item #152R66	\$ 592.5	15	EACH	Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems provided by department where indicated. Nametag Tab. Badge Tab. Epaulettes Addition of department patches provided by vendor. Addition of Chevrons provided by vendor where indicated by Sergeant rank. Addition of Motorcycle emblems provided by department where indicated. Nametag Tab. Badge Tab. Badge Tab.	by Certified Dealer. On Site Measure.	\$ 50.25	\$ 753.75	\$ 47	\$ 705	\$ 39.5	\$ 592.5
#0-12	Fecheimer Item #102W66	\$ 652.5	15	EACH	Epaulettes Royal	Measure. Heros Pride or	\$ 54	\$ 810	\$ 50	\$ 750	\$ 43.5	\$ 652.5
#0-13	3" Sergeant Chevron Emblems	\$ 160.0	100	EACH	Blue/White/Black. Rayon/Polyester.	equivalen t	\$ 3	\$ 300	\$ 2	\$ 200	\$ 1.6	\$ 160.0

	on Name: Police Uniforms & Prot on # 70205006 /14/2020	ective Gear				Fairfield Uniform Company Total Cost \$ 28,924.75 Selected # 0 Selected (\$) \$ 0			\$ 58	z Uniforms 3,250.0 0 \$ 0	Unifor \$ 69	England m Co. LLC 9,809.5 0 \$ 0
#	Items	Lowest	Quantity	k Unit@fMe	a Customization	Requireme	unit P rice	Total@ost	Uniterice	Total@ost	Unit ⊵ ric	Total@ost
0												
#0-14	Baseball Cap: FlexFit Style #6210	\$ 4,400.0	200	EACH	Stretch-Fit. Dark Navy 19-4013. Customization as specified. See Attached Addendum. One completed sample may be requested.	Sizes S/M & L/XL All Sizes to be	\$ 28	\$ 5,600.0	\$ 22	\$ 4,400.0	\$ 24.4	\$ 4,880.0
#0-15	Armor Skin XP Wool Vest Cover: Blauer Item #8470XP	\$0	20	EACH	None	available by Certified Blauer Dealer	\$0	\$ 0	\$ 75	\$ 1,500.0	\$ 69.25	\$ 1,385.0
	Traning Pant: 5.11 Stryke Pant				Charcoal. Womems	All Sizes to be available by Certified 5.11						
#0-16	Item #74369 Special Unit Polo Bomb Squad:	\$0	20	EACH	Style Availabilty. Left Chest. Customization as specified. See	Dealer All Sizes to be available by Certified 5.11	\$ 61	\$ 1,220.0	\$0	\$0	\$ 59	\$ 1,180.0
#0-17	5.11 Item #41060	\$0	20	EACH	Attached Addendum		\$ 39	\$ 780	\$ 0	\$ 0	\$ 56	\$ 1,120.0

Solicitatio	Solicitation Name: Police Uniforms & Protective Solicitation # 70205006 Closed: 5/14/2020 # Items Lower					Fairfield Uniform Company Total Cost \$ 28,924.75 Selected # 0 Selected (\$) \$ 0		\$ 58	Uniforms ,250.0 0	New England Uniform Co. LLC \$ 69,809.5 0 \$ 0		
#	Items	Lowest	Quantity	B ∉Unit@f B ⁄lea	Customization	Requireme		Total@ost	Unit ⊵ rice	Total@ost	Unit ⊵ ric	€ Total@ost
0												
#0-18	Special Unit Polo Hostage Negotiation: 5.11 Item #71049	\$0	20	EACH	Right Chest. Left Chest. Back. Customization as specified. See Attached Addendum.	All Sizes to be available by Certified 5.11 Dealer	\$ 42	\$ 840	\$0	\$ 0	\$ 56	\$ 1,120.0
#0-19	Taylor Leather Motorcycle Jacket: Pittsburgh Style #44732	\$1,240.0	4	EACH	Nameplate Holder. Badge Tab. Zip Out Quilted Liner. Addition of Department emblems provided by the department to both sleeves. Wheel & Wing (forward facing arrow) emblem provided by vendor to left sleeve below department emblem. NHPD Motor Unit emblem provided by department to right sleeve below department to right	Taylor	\$ 329	\$ 1,316.0	\$ 310	\$ 1,240.0	\$ 358	\$ 1,432.0
#0-19	Jacket: Pittsburgh Style #44/32 Supershell Rain Pants: Blauer	\$ 1,240.0	4	EACH	aepartment emblem.	All Sizes to be available by Certified Blauer	\$ 329	\$ 1,316.0	\$ 310	\$ 1,240.0	\$ 358	\$ 1,432.0
#0-20	Item #9972	\$0	12	EACH	None	Dealer	\$ 0	\$0	\$ 180	\$ 2,160.0	\$ 178	\$ 2,136.0

Solicitati	on Name: Police Uniforms & Prot on # 70205006 5/14/2020	Total Cost Selected # Selected (\$)	Selected # 0 Selected (\$) \$ 0		\$ 58	z Uniforms 3,250.0 0 \$ 0	New England Uniform Co. LLC \$ 69,809.5 0 \$ 0					
#	Items	Lowest	Quantity	I Unit@fIMe	ea Customization	Requireme	r Unit ⊵ rice	Total@ost	Unit ⊵ rice	Total@ost	Unit ⊵ ri	ce Total@ost
0												
#0-21	Cycling Pants: Supplex Olympic Item #OCP588-S	\$ 1,750.0	25	EACH	Dark Navy.	Olympic Brand. Alternate Brand Samples Welcome . Olympic Brand. Alternate Brand Samples	\$ 119	\$ 2,975.0	\$ 70	\$ 1,750.0	\$ 102	\$ 2,550.0
#0-22	Cycling Pants: Waterproof Olympic Item #OCP588-W	\$ 1,125.0	25	EACH	Dark Navy.	Welcome . Olympic Brand. Alternate Brand Samples	\$ 139	\$ 3,475.0	\$ 45	\$ 1,125.0	\$ 102	\$ 2,550.0
#0-23	Hollywood Shorts: Olympic Item #OHS147	\$ 1,050.0	25	EACH	Dark Navy. 8" Inseam.	Welcome	\$ 78	\$ 1,950.0	\$ 42	\$ 1,050.0	\$ 62	\$ 1,550.0

Solicitation Name: Police Uniforms & Protective Gear Solicitation # 70205006 Closed: 5/14/2020						Com \$ 28,	Uniform npany 924.75 0	\$ 58	uniforms 3,250.0 0 \$ 0	New England Uniform Co. LLC \$ 69,809.5 0 \$ 0		
#	Items	Lowest	Quantity	B ∈Unit@f I Me	a Customization	Requireme	r Unit ⊵ rice	Total@ost	Uniterice	Total@ost	Uniterio	c∈ Total©ost
0	_											
#0-24	Cycling Jacket w/ Liner: Olympic Item #ONY673W Short Sleeve Bike Polo Shirt:	\$ 840	7	EACH	Royal Upper. Dark Navy Lower. Embroidered Nametag on Velcro. Badge Holder. Mic Loops Left & Right Shoulder. Left & Right Sleeve Department Patches. Reflective Tape Front & Back Color Split. Reflective Ribbon at Cuffs. BACK: Line 1 NEW HAVEN Line 2 POLICE in silver reflective. Royal. Embroidered Nametag on Velcro. Department supplied Badge Emblem. Mic Loops Left & Right Shoulder. Left & Right Sleeve Department Patches. BACK: Line 1 NEW HAVEN Line 2 POLICE	Brand. Alternate Brand Samples Welcome . Olympic Brand. Alternate Brand Samples	\$ 285	\$ 1,995.0	\$ 120	\$ 840	\$ 195	\$ 1,365.0
#0-25	Olympic Item #CMP126	\$ 1,700.0	25	EACH	in silver reflective.		\$ 96	\$ 2,400.0	\$ 68	\$ 1,700.0	\$ 96	\$ 2,400.0

Solicitation Name: Police Uniforms & Protective Gear Solicitation # 70205006 Closed: 5/14/2020						Total Cost Selected # Selected (\$)	Com \$ 28,9	Uniform pany 924.75 0	Horwitz Uniforms \$ 58,250.0 0 \$ 0		Unifor	England rm Co. LLC 9,809.5 0 \$ 0
#	Items	Lowest	Quantity	∄ ، Unit@f ™ ea	Customization	Requireme				Total@ost	Unit P ric	€ Total@ost
0												
					Royal. Embroidered Nametag on Velcro. Department supplied Badge Emblem. Mic Loops Left & Right Shoulder. Left & Right Sleeve Department Patches. BACK: Line 1 NEW	Olympic Brand. Alternate Brand Samples						
	Long Sleeve Bike Polo Shirt:				HAVEN Line 2 POLICE							
#0-26	Olympic Item #CMP155	\$ 1,800.0	25	EACH	in silver reflective.	3M or Moldex	\$ 97	\$ 2,425.0	\$ 72	\$ 1,800.0	\$ 102	\$ 2,550.0
					Disposable fluid resistant cup respirator mask with elastic strap. One size							
#0-27	N95 Particulate Masks	\$0	720	EACH	fit most. Large, Xlarge, 2XLarge, 3XLarge Coverall w/ Resp. Fit Hood, Elastic Wrists	N95 Dupont Brand. Sizes requested	\$0	\$ 0	\$0	\$ 0	\$ 0	\$ 0
#0-28	Tyvek Coveralls with Hood Item #TY127SWH	\$0	500	EACH	& Ankles. Serged Seams. Storm Flap.	at time of order. Dupont Brand. Sizes	\$ 0	\$ 0	\$ 0	\$ 0	\$ 0	\$ 0
#0-29	Tyvek Boot Cover #TY454SWH	\$0	500	EACH	Large. Xlarge. 18" High Skid Resistant Sole Fluid resistant pleated face mask	requested at time of order.	\$0	\$ 0	\$0	\$ 0	\$ 0	\$ 0
#0-30	Procedure Mask	\$ 0	400	EACH	with earloops. One size fit most.	Brand Flexible.	\$ 0	\$0	\$ 0	\$0	\$ 0.95	\$ 380.0